2012 FF K FEXIMP

2R | L | XINPER A2 FEEC | BXINP | 55150 | 25258 | 2R3%0 | SRA%E | SR5%C | Hieke | SETHS | R840 | ZR9%e | 104
1 KT 1.25 i SR A 64 80 26 10 23 21
2 | B | 1.02 T 52 A 64 65 -3 4 46 18
3 Niais 0.95 B SR A 80 76 26 10 -4 23 21
4 | ME3L | 0.88 ] B HL T3 A 64 56 -3 20 18 21

5 | ke | 0.84 Mr R\ 64 54 35 18 29 | -28

6 Atk 0.67 IR\ 128 86 0 -1 25 33 6 5 11
6 | kEix=| 0.67 IR 128 86 0 -1 25 33 6 5 11
8 % 0.65 Mr R\ 80 52 1 9 29 3 10

9 | ffisba | 0.63 ] o B, T3 oA 112 71 -3 -1 -6 20 18 21 22
10 | #kIR4E | 0.58 M K BA 64 37 35 18 -28 12
10 | ¥rew | 0.58 NN 64 37 3 40 -13 7

12 | #5de | 0.49 5 2 BA 128 63 14 | -13 -9 6 -3 4 46 18
13 | #iFH2% | 0.48 SRV A 64 31 2 22 25 | -18
14 250 0.45 SRV A 112 50 15 26 26 3 -11 | -21 12
14 | ®4i | 0.45 SRV A 112 50 15 26 26 3 -11 | -21 12
16 | H:4:4Pi | 0.44 M BA 80 35 1 9 3 10 12
17 oy 0.43 ZARBA 112 48 53 | -26 -1 10 19 28 -35
18 | HFHiytA | 0.36 7R R R BA 112 40 0 55 | -12 8 -19 -10 | 18
18 | k& | 0.36 42 E S R A 112 40 0 55 | -12 8 -19 -10 | 18
20 7 0.29 5 2 BA 96 28 14 | -13 -9 6 -5 35
21 X% 0.25 ZARBA 112 28 53 | -26 -1 4 19 -3 -18
21 | k% | 0.25 L EHUN 80 20 -15 | -10 14 -15 46

23 | K| 0.24 W5 R A 112 27 38 10 1 -7 15 -8 -22
24 | Hytk | 0.2 W5 R A 80 16 38 -7 15 -8 -22
25 | phapg | 0.18 ZABBA 112 20 3 40 | -13 4 7 -3 -18
26 W 0.15 W5 R4 BA 96 14 -4 13 3 -4 30 | -24




26 /R 0.15 =N 128 19 -38 | 38 12 18 | -20 | -22 19 12
26 25 11% 0.15 T VR4 A 128 19 -38 | 38 12 18 | -20 | -22 19 12
29 # 0.06 W R oA 48 3 -8 10 1

29 | #485E | 0.06 ZHEPA 48 3 10 28 -35
31 ZE 0k 0.05 WS MR BA 112 6 -8 -4 13 3 -4 30 -24
32 | migkpr | 0.04 SRV BA 112 4 46 | -40 -33 2 22 25 | -18
33 | Bt | -0.04 Mr K BN 80 -3 22 -18 15 -1 -21
33 TH | -0.04 M K BA 80 -3 22 | -18 | 15 -1 -21
33 | Tk | -0.04 LA 48 -2 9 -8 -3

36 | M | -0.1 I =N 48 -5 2 -18 11

37 | MHER | -0.13 e IN 128 -17 8 2 35 | -18 2 11 | -46 | -11
38 | gy | -0.15 T VR4 A 80 -12 8 35 2 -46 | -11
39 | skitte | -0.24 Ty SR RA 80 -19 -2 -9 -10 -6 8

39 | kg | -0.24 B2 RA 112 -27 -46 | -10 9 -8 -15 -3 46

41 Ak | -0.31 ] B B T3 A 80 -25 -25 3 -2 25 | 24
41 | ) | -0.31 ] B B T3 A 80 -25 -25 3 -2 25 | 24
43 | #a%E | -0.32 B RA 96 -31 -2 -9 -10 -6 8 -12
44 | Btk | -0.44 ] B B T3 A 80 -35 -53 -1 -6 3 22
45 | ¥kte | -0.48 7R R R BA 112 -54 0 13 | -35 | -14 -7 -12
45 Xt | -0.48 7R R R BA 112 -54 0 13 | -35 | -14 -7 -12
47 | fa~rig | -0.56 SRV BA 48 -27 46 | -40 -33

48 | E&£% | -0.73 5 2 BA 128 -93 26 | -55 | -22 -3 -2 -15 -5 35
49 Rt | -0.91 LEHUN 96 -87 -15 4 -10 -29 | -18 | -19

50 | £%HEk | -0.93 LA 112 -104 | -46 4 -10 | 14 | 29 | -18 | -19

51 | phgs | -1.13 UZ= 48 35k BA 128 -144 0 -35 1 -26 -3 23 | -46 | -12
51 | pirpke | -1.13 UZ= 48 35k BA 128 -144 0 -35 1 -26 -3 -23 | -46 | -12
53 sk | -1.23 Bt B4R A 80 -98 -14 | -38 -4 -30 | -12
54 | X4 | -1.28 I = A 96 -123 | -26 | -55 | -22 -3 -2 -15

55 &\ | -1.56 ] B B T3 A 32 -50 -53 3
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